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Khẳng định nào sau đây là sai?
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Câu 22: Trong các mệnh đề sau, mệnh đề nào đúng?

	  A. [image: image139.wmf]logloglog

aaa

bcbc

+=

 với mọi số [image: image140.wmf],

ab

 dương và [image: image141.wmf]1

a

¹

.

	  B. [image: image142.wmf]loglog

aa

bb

a

a

=

 với mọi số [image: image143.wmf],

ab

 dương và [image: image144.wmf]1

a

¹

.

	  C. [image: image145.wmf]log

log

log

c

a

c

a

b

b

=

 với mọi số [image: image146.wmf],,

abc

 dương và [image: image147.wmf]1

a

¹

.

	  D. [image: image148.wmf]1

log

log

a

b

b

a

=-

 với mọi số [image: image149.wmf],

ab

 dương và [image: image150.wmf]1,1

ab

¹¹

.

	Câu 23: Cho [image: image151.wmf]0;,

amn

>Î

¡

. Khẳng định nào sau đây đúng?

  A. [image: image152.wmf].

mnmn

aaa

+

+=


	B. [image: image153.wmf].

m

nm

n

a

a

a

-

=


	C. [image: image154.wmf]()().

mnnm

aa

=


	D. [image: image155.wmf]..

mnmn

aaa

-

=
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